Example 1:

	No
	Questions
	Suggested Answer & Explanatory Notes

	1
	A balance sheet is a statement of position of a plantation …………. 

Which is the most appropriate statement to complete the above?

A 
As on 31st December every year.

B
Over a period of a year.

C
Over a period of a month

D
At a particular date.


	This question tests the understanding of the definition of balance sheet.

A is incorrect as there are other dates besides 31st December.

B is incorrect because financial statements can be for a period shorter or longer than a year.

C is incorrect as the period is not necessarily for a month.

D is the correct answer because a balance sheet can be linked to a financial photography at a particular date.



	2
	Prepaid expenses are:

Which is the most appropriate phrase to complete the above sentence?

A
Fixed assets.

B
Current Assets.

C
Current Liabilities.

D
None of the above.


	This question tests the definition of prepaid expense.

A is incorrect as it did not mention prepaid capital expenditures.

B is correct as prepaid expenses means third party is indebted to the payer; hence the prepaid expenses are debts or current assets.

C is incorrect as it is the reverse to current assets.

D is irrelevant.



	3
	Those items which a plantation owns and which consist of cash and things that will normally be converted into cash during the operating cycle of the plantation are known as:

Which is the most appropriate term to describe the above sentence?

A
Current assets.

B
Current liabilities.

C
Fixed liabilities.

D
Fixed assets.


	This question tests the understanding of components of current assets.

A is correct as cash and cash equivalent are current assets.

B is incorrect as cash and cash equivalent are not current liabilities.

C is incorrect for the same reason as in B above.

D is incorrect as cash and cash equivalent are liquid assets, therefore the term fixed assets are irrelevant. 

	4
	Dividends are paid to a plantation company’s shareholders out of the ……………:

Which is the most appropriate term to complete the above?

A
Current assets.

B
Capital surplus.

C
Current liabilities.

D
Earned surplus.


	This question tests understanding on the payment of a dividend.

A is incorrect as company does not pay dividend out of current assets.

B is incorrect as capital surplus are usually used for bonus issues or to be used for capital losses.

C is incorrect as this is irrelevant.

D is correct as only earned surplus is to be used for payment of dividends as defined by accounting standards (now known as Financial Reporting Standards).



	5
	If a plantation has fixed assets of RM4,000,000, fixed liabilities of RM2,000,000, current assets of RM400,000, and current liabilities of RM200,000.  

What is its working capital?

A 
RM200,000

B 
RM2,000,000

C 
RM600,000

D 
RM6,000,000


	This questions test the understanding of working capital or net current assets.  

By definition, working capital or net current asset is the difference between current assets and current liabilities.  

A is correct as RM400,000 less RM200,000 equal to RM200,000.

B is incorrect.

C is incorrect.

D is incorrect.



	6
	Nine States Plantation Sdn Bhd has the following figures as on 31st December 2007.
(Amounts in RM million)

Assets

Equity & Liabilities

Fixed Assets

191

Capital

280

Current Assets

221

Reserve

44

Other Assets

80

Term Liability

80

Intangible Assets

20

Current liability

108

What is the net worth of Nine States Plantation Sdn Bhd?

A 
RM241 million.

B 
RM324 million.

C 
RM133 million.

D 
RM208 million.


	This questions test the understanding of net worth.

By definition, net worth is total assets minus total liabilities, or equity capital plus reserves.

A is incorrect as RM241 million does not meet the given definition.

B is correct.  The sum of capital and reserve is RM324 million or total assets RM512 million less total liabilities of RM188 is RM324 million.

C is incorrect.

D is incorrect. 

	7
	Using the same data of question 6 above, what is the tangible net worth of Nine States Plantation Sdn Bhd?  

A
RM432 million.

B
RM512 million.

C
RM304 million.

D
None of the above.


	This question tests the understanding of tangible net worth.

Tangible net worth is net worth excludes intangible assets.

A is incorrect (refers to explanatory note in suggested answer to 6 above).

B is incorrect.

C is correct.

D is incorrect.



	8
	If the owner equity of Indo-Kalimantan Estate is RM10,000,000, and the total liability is RM15,000,000, and its current asset is also RM15,000,000, what is the value of total assets?

A
RM5,000,000.

B
RM40,000,000.

C
RM25,000,000.

D
RM20,000,000.


	This question tests the understanding of the basic accounting equation Capital + Liabilities = Assets, or C+L=A.

A is incorrect.

B is incorrect.

C is correct as capital plus total liabilities equal to RM25,000,000.

D is incorrect. 

	9
	The One-In-One Plantation Sdn Bhd is selling its Crude Palm Oil (CPO) at an average price of RM3,200 per tonne in 2007 and having RM1,200 as its average variable costs per tonne CPO.  It incurred fixed costs of RM2,000,000,000.

What is the break-even quantity in tonnes? 

A
3,200,000 tonnes

B
2,000,000 tonnes

C
1.200,000 tonnes

D
1,000,000 tonnes


	This question test understanding of Break-Even Point or BEP which is given as the fixed costs divided by contribution, whereas contribution is the difference between price and variable costs.

A is incorrect.

B is incorrect.

C is in correct.

D is correct as the fixed costs of RM2,000,000 divided by RM2,000 (i.e. RM3,200 – RM1,200)  is 1,000,000 tonnes.



	10
	A company’s trade debtors totalled RM400,000 and an allowance for doubtful debts of RM50,000 had been brought forward from the year ended 31 December 2007.

With hindsight of the continuous credit control review, it was decided to write off debts totalling RM38,000 and to adjust the allowance for doubtful debts to 10% of the outstanding debts.

What charge for bad and doubtful debts should appear in the company’s income statement for the year ended 31 December 2007?

A 
RM24,200

B 
RM51,800

C 
RM28,000

D 
RM74,200


	This question tests simple computation of bad and doubtful debts to be charged to the profit and loss accounts.

The brought forward amount was RM50,000.  Specific write off in the year is RM38,000.  Provision is 10% of RM362,000 (i.e. RM400,000 – RM38,000).  Therefore, additional charge is RM38,000 + RM36,200 – RM50,000 or RM24,200.

A is correct as explained above.

B is incorrect.

C is incorrect.

D is incorrect.


Please take note of the basic concepts, definitions and computations in the explanatory notes.  These are rudimentary subject matters, which candidates are advised to be mindful of in their preparation for the Book-keeping and Accounting examinations.

